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INSTRUCTIONS

(a) This examination contains SECTION A AND B
(b) SECTION A IS COMPULSORY
(c) You are required to attempt ANY TWO (2) questions in SECTION B.

SECTION A: COMPULSORY

QUESTION ONE (30 MARKS)

a) Define accounting (2 marks)
b) Differentiate between Normal and Actua costing systems (2 marks)
C) Outline the two ways of tracing costs to costs objects in an industrial setting

(2 marks)

d) A company with a Fixed cost of $12,000 produces 2000 units of Product A, 3500 units of
B and 5000 units of C. The respective unit contribution margins are $2, $2.5 and $1.5
respectively. Compute the Break-even number of units for the multiple products.

(3 marks)
€) List and briefly describe the three major types of transactions that affect retained earnings
in an organization. (3 marks)
f) Benefits of Activity-based costing (4 marks)
g) A Company is considering a new product line to supplement its range of products. It is

anticipated that the new product line will involve cash investments of 700,000 at time O
and 1,000,000 in year 1. After-tax cash inflows of 250,000 are expected in year 2, 300,000
in year 3, 350,000 in year 4 and 400,000 each year thereafter through year 10. Although



:
Bl

the product line might be viable after year 10, the company prefers to be conservative and
end-all calculations at that time.

(i) If the required rate of return is 15 per cent, compute the net present value of the
project? Is it acceptable?

(ii) What would be the case if the required rate of return were 10 per cent?

(iii) Calculate its internal rate of return?

(iv) Compute the project’s payback period?

(8 marks)
SECTION B: Answer any TWO QUESTIONS
QUESTION TWO (20 MARKS)
a) Define Management Accounting (2 marks
b) Differentiate between current and long-term liabilities (2 marks)
C) State four advantages of the Net Present VValue (NPV) technique (4 marks)
d) Outline any four distinguishing differences factors between functional and activity-based
cost management system. (4 marks)
€) Discuss the six stepsinvolved in the Capital Budgeting process (6 marks)
f) GY P mould manufacturers sold 10 moulds to an Oil Marketing Company for $ 12,000.

The Direct material and manufacturing labour costs for the moulds are $ 4,000 and $$
2,000 respectively, utilizing 1,500 machine hours. The company uses 4,200 machine
hours for al jobs incurring $8,400 as manufacturing overheads. Compute the cost of
goods sold and the Gross Margin Rate. (6 marks)

QUESTION THREE (20 MARKS)

a)

b)

c)

Distinguish between product and period costs (2 marks)

Outline the components of a corporation’s equity (3 marks)

List at least six steps followed in Job costing (3 marks)



d)

e)

f)

:

Beginning work in process for TIPOP company was $85,000. Manufacturing costs incurred for
the month were $120,000. There were $75,000 of partially finished goods remaining in work
in process inventory at the end of the month. What was the cost of goods manufactured

during the month? (4 marks)
Discuss the four forms of business organization (8 marks)
Describe the five steps or phases of Product Costing (5 marks)

QUESTION FOUR (20 MARKS)

a)

b)

0)

d)

f)

Define what is sunk costs? (2 marks)
State three advantages of Payback period technique (3 marks)
Outline the three steps involved in Activity-based costing (3 marks)

State four limitations of Accounting Rate of Return (ARR) or Average Rate of Return
(ARR) (4 marks)

Briefly describe the four broad categories of quality costs giving at least one example for
each category. (4 marks)

ERT Company had an inventory of $32,000 of raw materials at the beginning of the
month. During the month, $276,000 of raw material was purchased. A count at the end
of the month revealed that $28,000 of raw material was still present. What is the cost
of direct material used? (4 marks)



PRESENT VALUE TABLE

Present valus of 31, that is [_1 + r]'" whare r = interest rate; n = number of periods until
payment or receipt.
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